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THE WINNING EDGE DEFENCE ACADEMY (WEDA)

SAINIK SCHOOL, CLASS - 6TH

SOLUTION (2024)

Time: 2 Hrs 30 Min

w3 2 52 30 e
Sections / 3rgwmT Questions / % Maximum Marks / sifterawn o
Hindi / & 25 25 x 2 = 50
Mathematics / 7t 50 50 x 3 = 150
Intelligence / sfewmn 25 25 x 2 = 50
General Knowledge / am=r 3= 25 25 x 2 = 50
Total / 3= 125 300

Instructions:

All questions are compulsory and objective type with Multiple Choice Answers.

There is no negative marking.

In case of ambiguity on any question, the English version be taken as final.

Please use black/Blue ball point pen to completely darken the circles corresponding to the
correct answers.

The last blank pages of the question paper are meant for Rough Work.

The candidate must darken only one circle. If more than one circle is darkened, it will be
treated as a wrong answer.

Please return the answer sheet to the invigilator after the exam is over. The question booklet
can be carried along with by the candidates after the completion of the exam.
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SECTION — A : HINDI

T (w g 1 9 5 )

Frfofe e e aiey o i R Tt &
SR

@ AT ST @ foh e ¥ 8 Wt & forr e S 1
g TG IAAT AT TG 7T ST 8| AT e T
T S T TR ST @ 3 5000 Hie it wiga At
IS TS ST 81 ARt wfeAr F qrH 00 ¥ -400 ¥ i e
ST B ST F IR T IH ST T T A= 7T S &
ST ST S S H T LT §) AT qehiA A FS
S AT 3t 81 A ST GBIl § 1oh U % ST Toert S
e 8 i R o grer o w

T ST YT O T G ST EeRd € iR gafe Fei
A T H § Tl b1 31 8 T8 T et TR HleT
STSRAT 21 TTT 250 T ht TS 3 S A& G Wifer
ST B T I foh FgTs 6 |Ter Y IR e & fohT
feren wwE T ST

1. T T i i ¥ Wt forped 1 =g hifor)

T AT ST & o e et ------ 3 R o SR
a) i W@

b) ®: et

¢) e

d) TIRE W

AT -

ST TSI oh ST, TYHIT SiTeT 8 T & sIs T BT
2l

2. GE! Y T 9 HIfSIT-

a) TIET 7 ot 310 5 o () H1S <t 2

b) T F TRt ST @ a1 (A=) 3T It 2

¢) STRRT o HIGH H T ST F o1 (AF=H) 1S It
&

d) = g & THNAT I FS 1T (A=) 1S ot 2l

AT -

TG FHEAT § 1o THAT o S ST ST FH o1 HS
Tt 2

3. T& YT T =99 A

T TS 3 1E |aT T YT ST )
a) 100 =2f
b) 150 21
¢) 200 =i
d) 250 =¥

T -

ST TTEITRT o TR Uk HET T¥HIT RTet bl T i o
TR 250 Ei2f shT FH THTAT &

4. FeR{ET o RT G ST ohT Toh A ST ST & St
I I S U T AT ”

ST I T T IR T AT ©Y Ig=1-

a)ﬁFﬂT
b) &=
c)Ha‘:{m
d) fergror

ST -

T Y768 T;T 2, FiTTh I8 Rt ] (ITeT) 1 A1 2, it
Tsh |1 WaTef shi ERIiaT &) W1 91g foreft s2feh, Torm, oy,
7 forem 3 919 % &9 § 13 LT 2l

5. e’ 1 Rmdiareler wree g

a)TITf

b) qeR=H
C)EIT‘IF}
d) aftssha

AT
% - gEehT foadia wree der Brm|

AT - SHHT fodid 318 3R 2l
T - SHHT foodiq e IS R |
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TSR - 35T feradiT 1eq et BT Ufsahd 3T Haeel aaT
S TN A7 EEFd, STafh el T Aqets ardl 8 fo 1 901
FY Y AT AT STEEHA|

6. AT 1 GERA % Se7d © Gl forehed 7 9 HifoTe-
T & AR & T4 &1 T SR B’

a) DI

b) BleaT 2
c) BIS FH |
d) BIE T2l

AT -

FTRT | A Hehel © T TH = TATH o STTHA o 9 (314Tq, T
o 3T § TEeT) L BIS T ofT| % U FieT & i s §
TEt B T 2, SEIIY AT H “B1g I 7 BT A

7. & T T -

a) TIuoT
b) YT
¢) ST
d) GO

AT -

TITOT S A 5 0| HEIOT T SR 2 ST A1
[ESIE

8. TATQ TS 1 WE e g

a) SR T AT
b) forsteft €
c)q'{'lﬁ'd%\T\_rl'HT
d) e FEAT

TG -
TATH AT T 37 & FHR AT FLAT, I T HETa @ it

forelt arETer I SRR WRITE ohT €T o foe S fema st
|

9. e ferarealt & S 18 1 = HifSTe-

T SRR e R

a)?:ﬁ'OB

b) %

C)Eh_§

d) TS Terdt Tt

AT -

1T H Teh SHMER SRR ol fery &9 9 g1+ o fofg
AT 2

10. Sfoa Gyaeye oq it Terdr & ek T S gfd
Hifor

LEEGECIE FE AT T @ ST A

a)
b) afe
) g
d) qety

ITETT —

AR | "foR" F=e e Y68 T TN AT Wl §, FT(h
TE ot her o1 ST Rl ST T 1T LT 2

11. ST 1 U ¥ I79 & SFURETHa 153 3 T T
T wree Y fig e ket F & gfie

AT AT 5 T AT I IS ofi?

a)?FIEhQr
b) 3R
¢) 3Tkl
d) 1S FIR TEl

AT
T T "SI IT68 T THT el &1 8k €A I el 168

"ITRT" BT TR, FAifeh I8 oTer § = (ST BifeftT B) =hr
WTiHca g1 o foTT Su femarm 21

12. 3fora w1og i wEraT & a1 Ot hifore-
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et o TIAETR
a) e
by
c) Eal
)

AT -

T | G2 I1e8 Y SN, Fiteh IE qwidT & for am fowm @
ek L fondll 3T fesm A ST aET R

13. T wre forredt & & Y& St are 31 gfe-

a)%ﬁﬁﬁm
b) SfifstfersT
¢) frsfifersm
d) Sttt

AT -

Forsfiferar &t =i+t 315 21 fSsfiferem st s -5 1 =18
RIEIRCILI

14, 37 fopa aret o g

a) =9 I IS 2

b) fafeat st 2
DESLEEISIUH

d) 3 7t freht St

AT

FTeRHen ToRa I fora gt & fora forar =t srvimar foreft ahet
T TET aedT| T3 et SRl 9T Shisa i 2

a) S T 31 B

g gepdeh fohaT ® ifeh "IdT" 9T foram o1 9uTe U @ R
b) fafeat st 2

Ig Frshteh foraT & ifen "SeT" fora forelt o Wi Er eEY
, dfceh I shaet Tafeat () i s 2
C)Wﬁa—s’ﬂ"ﬂél

IE Hepweh TshaT € Hifeh "Srg" WX s & &1 R

d) 38 AT 2T St €

T off wepden oo @ w:ifer "afehl o fomarm 6 worma v T
2

gafae, Tt S afeat sedt 81" 2

15. & fopedt 3 & fordiamelen w18 gfe-
et

a)Eﬁr@lT
b) et
c) qLa

d) 99 g

AT -

"erwehl T 37 € SUH- G T AT foRet T T
T ST SrTart 3EeT faianelen wTea S e, S @Ak
T THE § =TS T Hehdl T 2

16. fpar % wdh w9 & arer U hifre-

TR T TR o1 et ®Y S " SN, iR AT H
"SFEITTR" IT63 ST TN IE Hehel T & o ST SF=Teh I
RACEAR

17. 3fq w1o3 Y FErIaT & TR T

™ T2 o & o s wft 35: A A
ST &

a) TE
b) &

¢) &
4T

AT -

T T 1 <& (T =1 970 g S STee |ST, He,
fersreror & fomanfarsieor o @rer ore 3Heh 379 | fasiy wehR
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IR W I &, T o a7 g &, Si9- 0T & S
(37Tq 3T 1E T Smem)

18. freferRae s 1 wrer Frafor fifsre-

T TR g

a) TAHTTRIA
b) ST

¢) ufersreshTet
d) 3T

AT -

ST g oS e 8" Uk Wia e Hed shi 54tk hLdl
2, ST A SaHTehTe | forar STTar 21

19. *SrEafes’ % fawiards wse = == Al

a) TR
NEIRIEED
o) ghaA
d) s

AT -
"STEA" T 31§ D S A, Hed AT ARl § HSE

Bl g8k faudiareles srea BN "shieut-er", et 31ef & St
el HeUAT § Bl ST ATEdierehdT § STfdcd 7 T@dT 2l

20. 3fq g it wrErrar & Tk T < g hifsre-
7k AT 3 FeriteTTe 3 &t |

a) v fean

b) SttaT

¢) St foram e

d) ST ®

AT -

AT B S[qeTeT § B e Ut seAT a7 forsk 81 gafere, e
o1 HE w7 S ferm g g

21. T v Hrgfd Hifore-

3 IR T I |

a)‘;Wlﬁl?lT%
b) TUTET &
c)’\'DI'U'IH?iT%ﬁ
d) orerETd §

ST - AT "3 SedTe] i 3 " T U T
Uehare ET ©, SHTTY, 36k |1 Uehal=l {shaT "8 =61 ST
feram st

22. 3fera st & fes v <Y ofd A
TR I IO T ST TR § ?
a)EF’JTﬁ

b) g

c)TFME

d) SR & T

AT -

Tk T B STETd ® ST R T B F(S HH TRIIcH
B, T hIIcHeh TS T THT ST g2l 2l

23. W& Y1eE T fadiaedsn wrea g
grTefierar

a)TTﬁ'U'I'f@CIT
b) &

¢) IR
d) wfcremer

AT -

veraTefierar” et o7ef B ferelt Sl TTerdY Bt AT R 3T SHehT
AThY TfteRr STl gEenT foadia o1ef "ufaey 2, s ferei &
AT O AT TfeiehTE 3 3hT WTSHT oh 58k ohidT 2l

24. faw e forpedt 7 & forioor wg=nfe-

a)fn_vlT
b) T
c)ﬁﬁ?ﬁ
d) 3raRy

www.wedacareer.com




THE WINNING EDGE

—— DEFENCE —

AT -

"ferRIOT" o7 TTse BNl € ST U AT FelrH shi ferRIear, 7o,
feorfer = STeRTE =AY ST 21

a) ST T8 Ueh forsiwor 2, siifer 7 foreft g <t forsiwar (S

forett o A T ot 35S ol @i 2
b) TTRIT: FE Tek foram 2, foreor e 21

¢) fafeat: @z s w3 &, foremor 7 21
d) 3a: 7E off U | R, formiwor 7 R

25. JeT Y 3fera e i werrar & e v H g
Hifre-

Bl CR:) DEN]

a) SATET A&t

b) 37 3ferem
c)wﬁiﬁm
ERGAI

AT -

3 37T e W I &, FI1h T8 T IUFH ol a1l
2, Forel St 7 37 1o o 2 ot dond fen ST T R

SECTION — B: MATHEMATICS

26. 2.6 kg +3 kg 700 g?

a)6kg300g b) 5.6 kg
c)5kg300¢g d) 6.7 kg
Explanation/ Tqgiaor:-

1kg = 1000g

3 kg 700g = 3 kg + 700g
=3kg+ 7001000 kg
=(3+0.7) kg

=3.7kg

~ 2.6 kg+3.7kg

= 6.3 kg

= 6 kg 300g

27. The side of a cube formed by melting a
solid cuboid with dimension 3cm x8 cm x 9

cmiis:

3 Qe x 8 Tt x 9 Yt ST TSt Wb 31 WA Rl e

‘éiﬁ‘ﬂ?ﬁ‘g\ﬂ%

a)6cm b) 4 cm
c)3cm d)5cm
Explanation: -

Let side of a cube be ‘@’
Dimensions of cuboid = 3cm x 8cm x 9cm

Volume of cube = Volume of cuboid
(side)’=Ix b xh

a®=3x8x9

a’=216

a-3/216

a=6cm

TERIT:-

T 5 AT ST ' ®

T o7 ST = 3 Tt x 8 Tt x 9 Tt
I T AT = F1Y bl ST
(sidey=l X b X h

a’=3x8x9

a'=216

a=3/216

a=6cm

28. Eight small cubes each having edge 2 cm
are arranged to form a large cube. The
volume of the large cube (in cm?) is:

T 21O o & T gl 2 At TR are o1rs B wAt
I il foRaT T &) 9 O T AR (@i 1) ®:

a) 48 b) 60
c) 64 d) 72
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Explanation: -

Let side of a large cube be ‘@’

Side of a small cube = 2cm

8 x volume of small cube = volume of large cube
8x (2)*=a’

8x8=a’

64=a’

Hence, volume of large cube = 64 cm?

TSR -

T U oS T R ST 2’ ©

Te DI B T Sl = 2 Wl

8 x BT T T I = &I U T AT
8x (2)’=a’

8x8=a’

64=a’

3Tq; I T T A = 64 cm’

29. If the cost of 420 oranges is Rs.2,520 then
the cost of 8 dozen oranges is:

Ife 420 G T T Rs.2,520 & AV 8 EoI ol hI hAT &

a) Rs. 480 b) Rs.528
b) Rs. 540 d) Rs. 576
Explanation: -

Cost of 420 orange =X 2520

Cost of 1 orange = 2520/420

=6

Cost of 8 dozen orange =8 x 12 x 6
=96 x 6=Rs 576

TTHIHIT:-

420 Gat T AT = Rs.2520

| Tl 3T T = 2520/420
=Rs. 6

8 TS HAL A T = § x 12 % 6
=96 x 6

=Rs. 576

30. If 16 bags cost Rs. 1,520, then the cost of
3 bags will be:

Ife 16 ST WA Rs. 1,520 B, A 3 ST Y e avft:

a) Rs. 240 b) Rs. 255
¢) Rs. 270 d) Rs. 285
Explanation: -

16 bags cost =X 1520

1 bag cost = 1520/16

3 bags cost =( 1520/16)x3
=X 285

TERI:-

16 ST <t T = Rs.1520

1 7 6T S = 1520/16%3
3 Tt hid = (1520/16)x3
=Rs.285

31. Which of the angles in the given figure
is/are equal to three right angles?

€ d ST far 3 R TR AT TR 3 SR R/
a N
14
d £ N g B
L5

a) ze and zconly./ Faa Le 3R L

b) £c only/ Faa Lc

c) zeonly/ s Le

d) ze, £c, £f and £g only /& Le £c, £Lf 3R
48

Explanation: -

£c+90°=360° (complete angle)
£c=360-90

= 270° (which is equal to three right angles)
And,

2e +90°=360° (complete angle)
£c=360-90

=270°

Which is also equal to three right angles.
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Hence, option (a) is correct.

TR

Zc+90°=360" (0T =TT
Zc=360-90

=270° (ST 9 THERIIT 3 S 7)
R,

Ze+90°=360" (701 i)
Zc=360-90

=270’

ST i TR o s off B
1, fareped (a) WET R

32. Name the type of an angle whose
measure is 26° more than the difference
between the angles 146° and 82°.

I BT F TR HT T T3¢ Sraeht 70 146° 3R 82° F
ofier & ST 26° AR R

a) acute angle / =T

b) obtuse angle/ 31fera sor
c) right angle / @mehor

d) reflex angle / ftardf o

Explanation: -

(146 — 82) + 26°
=64%+26°
=90°= Right angle

TTHIHIT:-

(146 — 82) +26°
= 64°+26"

= 90’

= THHI

33. Two angles of a triangle are 40° and 50°,
respectively. Name the triangle based on
sides and angles.

T R[S % 3 101 AR 40° SR 50° ) qSIA IR Hi0i %
TR R S 61 1 a1y

4o 5o
B C

a) Scalene and acute angled triangle/fa g
I =TT Brgt

b) Scalene and right-angled triangle /famag
FI GHHIT BT

c) Isosceles and obtuse angled triangle /
qufgaTg SR STferepenio Brst

d) Scalene and obtuse angled triangle /fawHaTg
HIT SAfERHI0T RISt

Explanation: -

One angle = 40°

Other angle = 50°

We know that,

Sum of three angles of a A = 180°
40°+50%+2A =180°

90%+2A =180°

2A =90°

Hence, option (b) is the correct answer.

TSR -

Teh 10T = 40”

7= 10T = 50"

T A & T,

A\ = T ST I = 180°
40°+50"+2A =180°
90°+2£A =180’

LA =90’

T, fashed (b) Tt ST R

34. Which of the following fractions will be
at the third place from the left, when these
fractions are arranged in ascending order?

frfafaa # @ s i et @ R A R af, S
=t Y R o 3 smafea R ST @2
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2 57 9
376”87 14
a) 2/3 b) 5/6
c)7/8 d)9/14
Explanation
257 9
3’6’8’ 14
Taking LCM of 3, 6, 8 and 14 = 168
2x56 _ 112 5x28 _ 140
3x56 168’ 6Xx28 168
7x21 _ 147 9x12 _ 108
8x21 168’ 14x12 168
108 112 140 147
In ascending order =>—, —,—, —
168’ 168’ 168’ 168
9 257
14’3’6’8

The fraction will be third from the left = 2 .

257 9
376’8’ 14
3,6, 8 3T 14T LCM &1 T = 168
2x56 _ 112 5x28 _ 140
3x56 168’ 6x28 168
7x21 _ 147 9x12 _ 108
8x21 168’ 14x12 168
. 108 112 140 147
AN FAT > — , — — , —
168’168’ 168’ 168
9 25 7
14’3’6’8

=t e @ offeR T T = Z.

.22 2 2,
35. Arrange the fractions—,-,—,=in
9’5’11’ 7
descending order:

.2 2 2
A=, =, —, = Y a0 e o Sy &
9’5’11’7
2 22 2 22 2 2
A5 7 b)S 7 51
gi2iz QL 222
9’5’11’7 11'9’7’5
Explanation
2222
5’7 '9’11

Whenever numerator of fractions are same,
then fraction with larger denominator becomes
smallest and fraction with least denominator
becomes the largest fraction

;-

IV SHA T = 2/5 ,2/7 2/9 2/11

a7 oft 317 o o791 @A B9 8 a1 oIS Wisteh arelt f=T wer
BT B ST @ I FeId HA WISk oTed] 3T aerd oIt &1
EiGikS

37, T (b) e SR

36. The largest among the fractions > —,
9’11’12
and = is
13
54 7 6
,E,E,EWE‘&WG@'&W%
a)5/9 b) 4/11
c) 7/12 d) 6/13

Explanation:

7 6

R\
9’11’12713
The LCM of 9, 11, 12, and 13 is 5148

Converting each fraction to have a denominator

of 5148:

5X572 _ 2860 4x468 _ 1872
9x572 5148’ 11x468 5148
7x429 3003 6X396 _ 2376
12x429 5148’ 13x396 5148

Arranging the fractions in descending order

based on their numerators:

3003 2860 2376 1872
5148’ 5148’ 5148’ 5148

Corresponding fractions:
7
12’

Olm

64-
13’11

TSR

4 7 6

11712713

9,11, 12 4T 13HTLCM = 5148

Nl e 1

5X572
9x572

2860 4x468 _ 1872
5148’ 11x468 5148
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7x429 3003 6x396 2376
12x429 5148’ 13X396 5148

.3003 2860 2376 1872
SIS S | , , ,
5148 5148 5148 5148

6 4

13711

aT

) )

-
Nl\1
o lun

37. What should be added to 513 to get 657?

513 T RTSIST 9T 3 657 IH BT =TT?
a) 165 b) 136
c) 144 d) 917
Explanation: -

Let a number be added = x
513+x=657

X =657-513

x=657-513

x=144

T -

T AT Teh HEa St STt & = x
513+x=657

X =657-513

x=657-513

x=144

38. Three cloth pieces of length 7 m, 7.5 m
and 9.5 m respectively are cut in pieces of
identical maximum length. The length of
each small piece (in cm), is:

SPAYT: 7 Hiew, 7.5 Hiex 3R 9.5 e darE O fF we F
TS HY T AT TS F ZHS A hIT ST & TAH
BR Zohs i g (At ) &

a) 25 b) 30
c) 40 d) 50
Explanation: -

HCF of 7, 7.5 and 9.5

= HCF of 7, 75/10 and 95/10
Or HCF of 700, 750, 950
Hence, HCF = 5/10=0.5m

*1m=100cm
HCF=0.5x100=50cm

TEH: -

7,7.5 3T 9.5 T HCF

= 7, 75/10 31 95/10 T HCF
1700, 750, 950 3T HCF

HCF = 5/10=0.5m

% Im =100 cm
HCF=0.5 x100=50 cm

39. The LCM and HCF of two numbers are
150 and 25, respectively. If one of the
numbers is 75, then the other number is:

&R % LCM 3 HCF ueT: 150 3K 25 § I st

T AT 75 B, e e

a) 29 b) 32
c) 40 d) 50
Explanation: -

We know that,
LCM x HCF = Product of two numbers

150%x25=75xx
150%x25

75
x =50
Hence, the other number is 50.

TSR -

& S € foh,
LCM x HCF = 31 H&13tt &1 e
150 x 25 =75 x X
150%25
=X
75
X =50
3T, THE T 50 B

40. A shopkeeper bought a table and a chair
for Rs. 1,900 and Rs. 600, respectively. He
sold both the items to Ankit with 15% profit.
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How much did Ankit pay for the table and
the chair?

T GG A T A 3R T Tl 567: Rs. 1,900 R Rs.
600 T TN S I AR TR T 15% T ) o=

sifte Bt i el 35 R P 48 g
a) Rs. 2,515 b) Rs. 2,590
c)Rs. 2,785 d) Rs. 2,875
Explanation: -

Cost price of a table =X 1900
Cost price of a chair = Rs 600
Total cost price = 1900 + 600
=Rs 2500

Profit = 15%

SP = (115/100)x2500
=Rs115x 25

=Rs 2875

T

T B o1 39 e = ] 1900
Teh T T 563 Hed = % 600
e 563 9 = 1900 + 600
= Rs.2500

AT = 15%

115
EERE

o 100
=Rs. 115 %25

= Rs. 2875

%2500

41. In the examination Divya scored 340
marks out of 400 marks. The percentage of
marks, she scored is:

wier F fesar 3 400 et F & 340 i g Ty @ g
W 3feh! ot Sfaerd &:

a) 60% b) 76%
c) 80% d) 85%
Explanation: -

Percentage of marks

=320 £ 100 = 85%
400

YR -
L~ 340
WEFTA)ZWX 100 = 85%

42. The number whose 20% is equal to 10, is:

T8 AT ST 20% 10 F T R
a) 30 b) 40
c) 50 d) 56
Explanation: -

20% of x = 10
20/100 x x=10
x=10x5

x=50

T -

X 120% =10

20

—xX=10 X=10%5
100

X=50

43. If 46% of a number is 115, then what is
150% of the number?

Ife forelt G&AT T 46% 115 B, T GSATHT 150% FATR?

a) 300
c) 415

b) 275
d) 375

Explanation: -

46% of x=115

(46/100)xx=115

x=11500/46

x=250

Now, 150% of 250 = (150/100)x250
=15x25

=375

TS RIT:-
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X F46%=115
46
—xX =115
100

11500

T 46
X =250

150
A, 250 T 150% = ——x250
100
=15x%25
=375

44, A metallic rod was heated to a
temperature of 120° C. Later, its
temperature reduced by 34° C and then its
temperature was raised by 45° C. What is the
present temperature of the rod?

T °1g T B N 120° C F A0 R 1 T mm w1
THHT ATIH 34° C HH 8 TR R O 8t a9 45° C

o1 T T B v T e = Ee
a) 165°C b) 154° C
c)131°C d) 79°
Explanation/ a8t ; -

120°C-34°C+ 45°C
= 1650C—349C
= 1310C

45. A yessel is heated to a temperature of
62°C. The temperature of the vessel in
degree Fahrenheit is:

TF T 62° C % AOAH T 77 R Sar &1 5
A feft wiRRe d B

a) 143.6°F b) 94° F
c) 66.4°F d) 30°F
Explanation/ Tagieor: -

°F=((9/5)x°C)+32
°F=((9/5)x62)+32
=111.6+32
=143.6 °F

46. Match List-1 with List-II:

List-1

A. Half of a circle

B. Half of the longest
chord of a circle

List-11
|. Diameter
[I. Centre of circle

C. The line segment Ill. Semicircle
which divides a circle in
two equal parts
D. All diameters of IV. Radius
a circle intersect at a point
-1 1 G-I & gaford
gefl-1 gefl-11
A. I ST JATRIT 9T L =mE
B. 31 3! Tod &eft Sfar IL. 3 1 65
ST STET 9T
C. 98 [@rge S aa 111, 37efaa
1 forarfora sear @
Sl SRR AT |
D. 31 % ot = 1v. frsan
o foig W e et §

Choose the correct option from the below:
= g e frpedt & & vt frrea

a) A-lll, B-1, C-ll, D-IV
b) A-lll, B-1V, C-I, D-I
c) A-ll, B-Ill, C-1V, D-I
d) A-1V, B-llI, C-II, D-I

Explanation: -

Half of a circle know as semi — circle

Half of the longest chord of a circle known as
radius.

The line segment which divides a circle into two
equal parts known as diameter.

All diameters of a circle intersect at a point
known as centre of a circle.

Hence, option (b) is the correct one.

YR~

T ST SATHT AT ST 37efa had 2
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1 BT T it Sfia skt SATem A ford e e 2

A HI A T WET § forIioia e aten s ™
FHEAT 2l

I % wft =g v fig W wfosse wa € a9 @ s
e ¢

a1 ke (b) T R

47. In figure O is the centre of the circle. If
AB= 8 cm then the length of OP is:

i T O I %1 % Bl I AB= 8 Fsft &t OP it wamg
%

r
()

A 3
a)6cm b) 4 cm
c)3cm d)5cm
Explanation: -

AB is the diameter of a circle =8 cm
Its half (radius) i.e. OP = 8/2=4cm

TR -

AB U 9 %1 o979 € = 8 Tt
gaehT 371 (=) 7t OP = 8/2=4cm

48. Jaspal purchased an old car for Rs.
1,18,000 and spent Rs.7,000 on its
maintenance. If he sold the car for Rs.
1,40,000, then his profit percentage is:

A ¥ T QT FR Rs. 1,18,000 F @ qur SWh
TE@@E T Rs. 7,000 @ fg) IS I8 T Rs. 1,40,000 F
o<fl, A SHHT AT Tfea B

a) 10%
c) 12%

b) 11%
d) 12.5%

Explanation: -

CP of car=%1,18,000
Maintenance cost =X 7000

Total CP =X 1,25,000

SP =%1,40,000

Profit = SP — CP

=1,40,000 - 1,25,000

= 15,000

Profit% = (15000/125000)x100
=12%

TEH: -

T %63 9o = Rs.1,18000
TE@TE 1 = Rs. 7000

%o %9 4o = Rs.1,25,000
forsher g2 = Rs. 1,40,000
RIEECERE R B R )

= 1,40,000 - 1,25,000
=15,000

/T % = (15000/125000)% 100
= 12%

49. The supplementary angle of the
complementary angle of one tenth of a right
angle will be:

TN % THS AT 5 [ hvT 1 T HI0T BITL:
a) 99° b) 88°

c) 81° d) 101°
Explanation: -

Supplementary angle of complementary angle
of one tenth of right angle

= 180-(90-(1/10)x90)

= 180-(90-9)

=99°

-

FEEHIVT 6 TEA HTT 3 L IV T G 07
= 180~(90—(1/10)x90)

= 180-(90-9)

=99"
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50. The supplementary angle of three times
of the half of a right angle is:

A. Acute angle B. Obtuse angle

C. Right angle D. Half of a right angle
FHHIOT 3 T8 3 A AT TG HI0T 8

A. = B. st &

C. T D. THeHIT T ATET

a) Only A / Faet A

b) Only C/ FawC

c) Only A and D/&ae A 3R D
d) OnlyBand C/ & B 3R C

Explanation: -

Supplementary angle of three times of half of
right angle

=180— {3%(0.5%x90)}

= 180-{3x45}

=180-135

=45°i.e. actual angle & half of right angle.

T -

HEEHIVT o ST o <A AT BT I HI0T

= 180—{3%(0.5%90)}

= 180—{3x45}

=180-135

= 45° I} ITEferen 10T TR THHIV T 3T

51. In the given figure, the value of x is

&g SR H, x WA R
o
, 32 50° .
» 7
xO
a) 82 b) 90
c) 100 d) 98

Explanation: -

£COD=; £AOB=x (vertically opposite angle)
32 + x + 50 =1800 (linear pair)

82+ x=1800

x =1800—-82

x =980

TERI:-

£COD=; ZAOB=X (S%aTer faadia shror)
32+ X + 50 =180" ({Rae )

82+ x =180°

X =180"-82

x =98"

52. The sum of the greatest 4-digit number
and the smallest 3-digit number is:

TS ST 4-37hT TEAT S T DI 3-7hRT HEAT HT AT
LS

a) 10000 b) 10110
c) 10099 d) 10999
Explanation: -

Greatest 4 digit number = 9999
Smallest 3 digit number = 100
Sum =9999 + 100

=10099

T -

e eI 4-37h1T TEAT = 9999
e BT 3-3FH &A1 = 100
T = 9999 + 100

=10099

53. The difference between the greatest and
the smallest 5-digit numbers formed using
the digits 0,2, 5,3 and 1, is:

AT 0, 2, 5, 3 T 1 T ST FHeh ST 71§ Goid SIS 3R
el B 5-3ih1T GEATAT % o< 1 ST

a) 45555 b) 44444

www.wedacareer.com




THE WINNING EDGE

—— DEFENCE —

c) 43205 d) 42975

Explanation: -

Greatest 5 digit number =53210
Smallest 5 digit number = 10235
Difference = 42975

TSR -

oy Sl 5-3h ST = 53210
ol BILT 5-3ThiT €@am = 10235
A = 42975

54. Which of the following numbers is
divisible by 3?

TrrafaRaa & @ = € dew 3 9 fawrsar 22
a) 518932 b) 117342
c) 213454 d) 337625
Explanation: -

Divisibility rule of 3 says that sum of all digits is
divisible by 3.

In option (a), 518932=5+1+8+9+3+2=28
28 is not divisible by 3.

In option (b), 117342 =1+1+7+3+4+2
=18

18 is divisible by 3.

TIY IR -

3 o1 farvrsarar e e & for @t stent o1 A 3 @ forsar
Earcq(a)ﬁ,518932=5+1+8+9+3+2
;sz,zﬁ%mqﬁ%l

faheT (b) W, 117342 =1+1+7+3+4+2
Tsl,iﬁ%wmél

55.144+9x2+6-4=__ ?

a) 10 b) 2
c) 34 d) 64

Explanation: -

144 +9x2+6-4

l6x2+6-4
32+6-4
32+2

34

56. Jayesh and Mohan started a business by
investing Rs 28,000 and Rs 35000,
respectively. At the end of the year Mohan
received Rs 6,250 as his share in the profit.
The total profit in the business, is:

AT 3T HET I FHAM: Rs. 28,000 3T Rs.35000 1 AT
A T T YE fom ot 3 3i F e 8 @ F s

& F T T T Rs. 6,250 firen swaramr & For @ R

a) Rs. 9,200 b) Rs. 10,000
c)Rs. 11,250 d) Rs. 12,250
Explanation: -

Jayesh’s share : Mohan’s share
28000 : 35000

4:5

Let, ratio be x

Jayesh share = 4x

Mohan share = 5x

According to question-
5x=6250
x=6250/5=1250

Total profit =4 x + 5x
=9x

=9x 1250

=Rs 11,250

TSR -

SIS SR T : Hied ot e
28000 : 35000

4:5

T, I X °
SrrT AT e = 4x

Hre o1 fewdm = 5x
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ATQ.,
5X = 6250

X =6250/5=1250
FA AN = 4X + 5X
=9x

=9 x 1250

=Rs. 11,250

57. In a 20 kg mixture of yellow pulse and
black pulse, there is 4 kg black pulse. The
ratio of black pulse and yellow pulse in the
mixture, is:

Hieft Irer R Hredt 31 % 20 Forum frgror # 4 R et @

R Torror 3 whredt arer 37 it arer T g @
a) 1:5 b) 1:4
c)4:15 d)1:6

Explanation: - (2) 20 kg

Yellow pulse Black pulse
(20 -4 kg) 4 kg
16 kg
Black pulse : Yellow pulse
dkg:16 kg
1:4
ORI - 20 kg
oAt 37T TTeAT ST
(20 — 4 TeFm) 4 TR
16 TeFam
SFIeAT ST« UTAT aTed
ATRM : 16 TR
l1:4

58. Joseph borrowed Rs 25,000 on simple
interest at the rate of 6% per annum for 4
years. How much did he pay at the end of 4
years?

TAF ¥ 4 791 & T 6% Ffar af it ¢ & FrEwer = |
Rs 25,000 SR fore | 4 st & 3fq o @+ fraet Tl
TJHS?

a) Rs. 30,000 b) Rs. 31,000
c) Rs. 31,800 d) Rs. 31,920
Explanation: -

Principal =X 25000
Rate = 6%

Time = 4 years

We know that,
SI=(PxRxT) /100
=(25000%x6x4)/100
=250x24

=6000

Total amount =P + SI
=25000 + 6000
=Rs 31000

T -

TAET = Rs. 25000
T=6%

o = 4 99

T A & o6,

PXRXT
SI =
100

=(25000x6x4)/100
=250x24

=6000
FAART= P + SI

= 25000 + 6000

= Rs.31000

59. In how many years will a sum of Rs.
1,800 become Rs. 2,610 on simple interest at
the rate of 9% per annum?
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Rs. 1,800 =t TRT 9% =fier o & Fremer =1 1 o ast
T Rs. 2,610 Br@(?

a)d b) 5
c)6 d) 12
Explanation: -

Principal = Rs 1800
Amount =Rs 2610

Rate = 9%

Let time =T years
Amount =P + S|

2610 = 1800 + SI
SI=2610-1800

SI=Rs 810

Now, SI=(PXRXT)/100
810=(1800%9xT)/100
T=>5years

T

TerEd = Rs 1800
qfT=Rs 2610

T =9Y%

AT G0 = T oY

TRT = T + | ST
2610 = 1800 + BTRIT AT
IO &1 = 2610 — 1800
HIYROT 1S = Rs 810

37, SI= (PXRxT)/100
810=(1800x9xT)/100
T=5a%

60. The perimeter of the given figure, is:

S TS TR B IR B
2 cm/\‘z cm
4cm 4cm
4cm 4
o) cm
3 1
2cm 2c¢m
4cm 4cm
4cm 4cm
2em\2 cm

a)32cm b) 40 cm
c) 48 cm d)52cm
Explanation: -

Perimeter=(2+2+4+4+2+2+4+4+4+2+2
+4+4+42+42+4+4)
=48 cm

TSR -

AT =2 +2+4+4+2+2+4+4+2+2+4+4+2
+4+4)
= 48 Tt

61. Pinky runs around a square field of side
50m and takes 6 rounds. Shruti runs around
a rectangular field of length 160m and
breadth 120 m and takes 2 rounds. Who
covers more distance and how much more
(in m)?

it 50 Hiex o AN T iR AW F AR A et ®
R 6 TFHR Mt 2 g 160 e Tz 3R 120 Hex
NS A TF AFAHR AW F TRE AR gt § 3N 2
TR T 1 T S g 7 wear € S e ot
T ol T war

a) Shruti, 80m
c¢) Shruti, 65 m

b) Pinky, 80m
d) Pinky, 40 m

Explanation: -

Perimeter of asquare=4a

=4 x50

=200 m

Pinky takes 6 rounds around a square field of
200 m

i.e. 6x200=1200 m

And, Perimeter of a rectangle =2x (I +b)

= 2x (160 + 120)

=2x280

=560 m

Shruti takes 2 rounds around a rectangular field
of 560 m

i.e. 2x 560=1120m

Hence,
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Pinky covers more distance than shruti by (1200
—1120)=80 m.

Esii:icoy) o

TTHRTINAT =4 a

=4 x50

=200t

TR 200 Ht 3 STTeRR HE™ % I 3T 6 TRt AT &

YT 6 x 200=1200 M
qT.

AR aET =2x (L +b)

=2x (160 + 120)

=2x280

=560 Ht

T 560 T 3 HTAATHR HEW & =R AR 2 FFrt AT &
31fd 2% 560=1120m

3,

TorhT 21f & (1200 — 1120) =80 et 1frer gl 7 et 21

62. If the average of numbers 12, 15, 19, K
and (K + 5) is 13, then the value of K, is:

Ife gEIRiY 12, 15, 19, K 3K (K + 5) #1 3fi|ad 13 §, @K
HTHFR:

a)3 b) 5
c)7 d) 13.5
Explanation: -

Average = sum of numbers/ Total numbers
13 = (12+15+19+k+ k+5)/5

65 =51+ 2k

K=7

T -

A = (ST 1 ANT)/(Fet HEATT)
3’12+15+19+k+k+5
5

65=51+2k
K=7

63. The average weight of five friends
weighing 48 kg, 50 kg, 53 kg, 55 kg and 49 kg,
is:

qter qi, fomerr o 48 feram, 50 feram, 53 Tk, 55 fmm

3t 49 o &, ST Sftga oo fraaT 22
a) 50 kg b) 51 kg
c) 52 kg d) 53 kg
Explanation: -

Average of 48 kg, 50 kg, 53 kg, 55kg and 49 kg
48+50+53+55+49

5
255
= ?:51

TERIT:-

48 feru, 50 femmm, 53 ferum, 55 formm =i 49 forum =t o

48+50+53+55+49
5

255
= —-=51
5

64. Read the given statements and choose
the correct option:

Correct option:

Statements - I Two distinct
intersect in more than one point.
Statements — ll: More than two lines can pass
through one point.

lines can

feg g et it v¢ ST we forbea

et e

T - I: 3 AT Y@ T & fer foigadt o wfossg
G 8|

T - 11 3 Seren vad w foig & g o wawet €

a) Only statement | is true / FaAFHA[TT
b) Only statement Il is true / a1 @
c) Both the statements are true / <HI %

g

d) Both the statements are false/ T %o s

g
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Explanation: -

Two distinct lines can intersect only at one
point.

That means, statement | is not true

More than two lines can pass through one
point.

That means, statement Il is true

Hence, option (b) is the correct answer.

Esii:icoy) o

&l SFAT-SFAT LT shefed Teh foig T Sferees T Fehell &
SHeh! AT € foh e [ 3 81 U feig @ 21 1 31fereh wand
TSR "l 8| SHH HAAS & Toh U 11 6cd 2] 37d: foshe
(b) T SR

65. If x = 30 and y = 120, then value of
X
16(2+5) +1

aﬁx=303ﬁty=120%,a‘116(§+5)+ 1wrame

a) 85 b) 84
c)21 d) 117
Explanation: -

X
16(; +5)+1
Put x=30 and y=120
= 16(ﬂ+5)+1
120
= 16(Z+5)+1
= (16x=)+1

= 84+1
= 85

TIY IR -

16 (= +5)+1
y
x=30 and y=120
30
= 16(—+5)+1
%20
= 16(,+5)+1

21
= (16x)+]

= 84+1
= 85

66. The decimal form of fraction 5/8, is:

R 5/8 T I &, B
a) 0.58 b) 0.62
c) 0.625 d) 0.652

Explanation: - Decimal form of 58=0.625
TSR - ZWWW:O.&S

67. The sum of all prime number, less than 21,
is:

21 T F1 Tt 7= e HT AT &
(a) 77 (b) 67
(c) 41 (d) 48
Explanation: -

Prime number less than 21
=2,3,5711,13,17,19
Sum=>2+3+5+7+11+13+17+19
=77

TERI: -

21 U Y ST T
=2,3,5,7,11,13,17,19
AMD2+3+5+7+11+13+17+19
=77

68. Which of the following statements are
NOT correct?

A. Composite numbers are always even.

B. Prime numbers are always odd.

C. Sum of two prime numbers is always
prime.

D. Product of two composite numbers is
always composite.

fAtfar fa R TR e T &
A. T TETE SR W Bt §)
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B. 3o G ghe fom et 8
C. 3\ AT TSI T INT G FAWTST BT &
D. 3 TS HEATSA T U W WIS BT o

a)AandDonly/ #adA3RD

b) Band Conly / #a@B 3R C
c)A,Band Conly/ Faa A, B3R C

d) A, B, C and D only/ %=« A, B, C 3R D

Explanation: -

Option (a) is not correct as all composite
numbers are not always even.

Option (b) is not correct as all prime numbers
are not always odd.

Option (c) is not correct as sum of two prime
numbers is always not prime.

Option (d) is correct as product of two
composite numbers is always composite.

TR

faehed (a) Tl T ® Fifh wft wsw st wdd om
Bt 2l

farehed (b) Tt Tt & ifer it sterrear s weg fom =2
et 2

T (c) Tt et R FAifeh a7 STTsT HeATAY 1 AT T
TSI el 2T 2

fompe (d) @t @ AR 3T T TS F AR qad
TS 2T 2

69. A party was given to 30 children. Pizzas,
burgers and Cold drinks were bought for Rs.
450, Rs. 300 and Rs. 270, respectively.
Everything was shared equally among 30
children. The cost of items given to each
child was:

30 e ol Tk UTel <Y 151 fst, it 3R wivs e A
Rs. 450, Rs. 300 3 Rs. 270 ¥ &i? 7Y €« F® 30 F=a(
T SRS ST TR T sFodl i &Y 18 aegal bt AnTe
oft:

a) Rs.30 b) Rs. 32
c)Rs.34 d) Rs. 35
Explanation -

Cost of 30 Pizza = Rs 450

Price of 1 Pizza=450/30 =Rs 15

Cost of 30 Burgers = Rs 300

Cost of 1 Burgers =Rs 300/30=Rs 10
And, Cost of 30 cold drinks = Rs 270
Cost of 1 cold drink = Rs 270/30=Rs 9
Total cost of items
=Rs15+Rs10+Rs9

=Rs 34

T -

30 fussTT &t @I = Rs. 450
450

1 foss ?mpfﬁqﬁ:g:Rs. 15

30 sl @ = Rs. 300

300
1 ST A AT = Rs. g = R0

37, 30 Fhies it @ = Rs. 270
. 270
IW%%@W:RS.EZRSQ

FEGHAT Al et AT
=Rs. 15+ Rs. 10+ Rs. 9
=Rs. 34

70. What should we subtracted from the sum
of 3509 and 2165 to get 4009?

3509 3T 2165 F AT Y FAT HSAT S dTfh TROMT 4009
T

a) 3580 b) 3530
c) 2665 d) 1665
Explanation: -

Let the number be subtracted = x
(3509 + 2165) — x = 4009

5674 — x = 4009

5674 —4009 = x

1665 =x

T -
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HHT 91T TS 6T = X
(3509 +2165) — X = 4009
5674 — X = 4009
5674 — 4009 = X
1665 = X

71. Which of the following is the correct
representation, using Roman Numerals of
the number 199?

QA ST T ITANT A § @& 199 1 Tt wfaffere
Frafafea da s are?

a)Icc b) CLXXXXIX
c) CXCIX d) ICCCD
Explanation: -

Roman numeral of 199 =100 + 90 + 9
= CXCIX

Eotsicay
199 ST AT 375 = 100 + 90 + 9 = CXCIX

72. A number written using Roman numerals
(XXI = XV) = VI + MCLXXIII is equal to

QA 3t (XXI — XV) — VI + MCLXXIII T ST ek
ferelt ¢ wea s

a) MCLXXIII b) MCLXVII
c) MCL d) MCXLIII
Explanation/ TqgteRT: -

(XX = XVI) = VI + MCL XXIII
(21-15)-6+1173
6-6+1173

1173 = MCLXXIII

73. Harish drives his car at a speed of 45
km/hour. How much time (in minutes) will
he take to drive 12 km?

0 3ot R 45 fopfiyeier it oifr @ st 21 12 foedfr v e

T 38 e g (Bt ) e
a)9 b) 12
c) 16 d) 20
Explanation: -

Speed =45 km/hour

Distance = 12 km

We know that, distance = Speed x Time
12 =45 x time

Time =12/45 hour

> 1 hour = 60 min

~ time = (12/45)xX60 min=16 min

TERIT:-

il = 45 fepei/sier
gl = 12 fefelt

B S & foh, gt = 71 x o

12 =45 x987q

12
R = — HeT
45

1 EeT = 60 e

12 . .
o HHT = EX6O min=16 min

74. Raman covers a distance of 24 km in 40
minutes. If he increases his speed by 4
km/hour, then how much time (in minutes)
will he take to cover the same distance?

T 40 T 7 24 fopeft i gt o e 1 A @ i 4
fopeft/efer wrgt 3aT R, < 3@ Fuw g qw w1 & e wwr
(frt ) wiem?

a) 28 b) 32
c) 36 d) 38
Explanation:

Speed = distance/time
=(24%x60)40=36km/hr

If speed increases by 4 km/hr.

Then, new speed = (36 + 4) = 40 km/hr

New time = (distance/new speed)
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=24/40=(6/10)X60=36m in

Esii:icoy) o
iﬁ 60
g =—— =24x— =36 k m /hr
— 40
Ffe i 4 forefiy/eier sie STt R
o, 78 ifa = (36 + 4) = 40 Terefi/siar
aﬂ 24 6
TE = ——=— = — X60=36min
TRy 40 10

75. Amrita went to a market for purchasing
stationary items for her son. She carried Rs.
500 with her. She paid Rs. 135.50 for the
notebooks, Rs. 30.50 for pens, Rs. 3.75 for
erasers, Rs. 48 for a box of colours, and Rs.
142 for a Geometry box. How much money is
left with her?

ITAT A A2 % foTT R 1 aHH Tl IR ) 98
I WA Rs.500 T 5| 36 A & A Rs. 135.50,
97 % AT Rs. 30.50, R F T Rs. 3.75, Tl & 0 S|

% fTg Rs. 48 3R S S & T Rs. 142 w1 fram

Toram e T fora 98 = 87

a) Rs. 132.25 b) Rs. 142
c) Rs. 140.25 d) Rs.145.75
Solution:

Amrita had =X 500

She spent =X 135.50 +X30.50+X3.75+348 +
X142

=% 359.75

Remaining money = X 500 —X 359.75
=%140.25

T R:-

3THAT % 99 = Rs. 500

304 @ foRAT = Rs.135.50 + Rs. 30.50 + Rs. 3.75 + Rs.
48 +Rs. 142

=Rs. 359.75

I T = Rs. 500 — Rs.359.75

=Rs. 140.25

SECTION — C: INTELLIGENCE

76. Figures A and B are related in a particular
manner. Established the same relationship
between figure (C) and (D) by choosing a
figure from the alternatives, which replaces
the question mark (?).

o A 3k B @ oIy 7% @ Geiftm & et 4 4w
srrepfa g STTea () SR (&) & st aae defw wnfua

o, St o 3@ (7) = e s 21
(A) (B) (©) D)

(D

% (2) %
() @_ (4) %

a) (1)
c)(3)

b) (2)
d) (4)

Explanation: -

Figures A and B are related as we observe the
rotation in an anticlockwise manner so that we
get figure B. We will apply a similar relationship
between figure (3) and (4) and get c) option as
the correct answer.

TSR -

AT A 3R B Heiferd € it a7 ammad fo3m & 5o &
fleqor FFed € aTfer 76 STl B WTW 2N 89 1R (3) 3R
@) % = gu wey AN HAT IR L IW & &9 | c)
forshed wma i
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77. Which of the following shapes is a part of
the given figure?

frrfree 3 & A e ot S TRy R 0

a) (1)
c)(3)

b) (2)
d) (4)

Explanation: -

The figure given in option b is the part of the
given shape.

T
faened (b) o &t T8 TTeRfa o H faw T S1reRr o e R

78. Which number replaces the question
mark?

7 g (7) F R W BH- i w@wmn wit

YW

a)8 b) 7
)9 d) 14
Explanation: -

3 and 4 multiple is 12 and half of itis 6
6 and 5 multiple is 30 and half of it is 15
SO same way

7 and 2 multiple is 14 and half of it is 7
so, answer will be 7

TIHIHIT:-

3 3T 4 HT IO 12 2 3R SR AT AW 6 7
6 3T 5 T IO 30 & TR SR SATET 9T 158
LIECK

7 3R 2 FHIOS 14 2 S SHHT ST 9T 7 8
ar, I 7 8T

b) forrea T &

79. Complete the following analogy
frfofen agm st

BDA:7::CAB:?

a)3 b) 6
c)5 d)9
Explanation: -

Addition of the positional value of alphabets
will give you 7 in first case. Apply same logic to
establish analogy.

2+4+1=7

CAB=3+1+2=6

TSR -

ST & T Tl STied 9T STT9eh! Teat Rufa & 7 ww
BRI HTGwT Tfid o & FoTe ST b Ty il
2+4+1=7

CAB=3+14+2=6

80. Find the odd one out:

EEICEARGIE
a) Summer/ = b) Winter/ sfa@
c) Season / =g d) Spring/ =&d

Explanation: -
The odd one out in the given set is (c) Season.

Summer, winter, and spring are specific
seasons.

TSR -

few U e T SSE () HiSE R
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Toff, Tt i aa fafsre dag 8
I AT hLaT 2

81. Find the odd one out:

EEIGERCISF

a) 121 b) 99
c) 135 d) 143
Explanation: -

Answer is c) 135 because Rest all are multiples
of 11.

11x13=143

11x9=99

11x11=121

T

IR 3) 135 TR T AT 11 o 0 €l
11x13=143

11x9=99

I1x11=121

82. Choose the odd one out:

FARTR G
a) BEIK b) CEGI
c) ACEG d) BDFH

Explanation: - T

he odd one out in the given set is
(a) BEIK.

P T 15

+3 +4 +2

(b) CEGI: Each letter is incremented by two in
alphabetical order.

(c) ACEG: The pattern here seems to be
increasing by two in same way

(d) BDFH: Each letter is incremented by two in

alphabetical order.

TR

fRumacHase e

B & |

+2

(a) BEIK.

(b) CEGI : Y 37eTT T JUMHTAT 561 | ST & ST ST 2l
(c) ACEG: 81 42+ U &1 08 ¥ a1 § SigdT 8371 dfid a @
(d) BDFH: I3k 3787 sh! SUTHTAT 5hW B &1 & ST ST 2

83. Find the odd one out:

b) (2)
d) (4)

EUISEIRCICE

)
3) @

a) (1)
c)(3)

Explanation: - Answer is correct because in rest
all figures we observe 2 lines are intersecting
and dividing the bigger geometric shape into 4
parts but in d) option we cannot see two lines
intersecting.

TSR -

d) 3 T § it bt aft smeRfoR # wW @ € f6 2
T@Td yfteese L T 8 3R 5 AT TR i 4 9FT |
farfora = & € Afer d) farerea & & <1 Tt 1 wfaese
A T AL <@ Tl o

84. There is a certain relationship between
two given words on left side of (::). Choose
the correct alternative for the missing term
using the same relationship.

() % o 3R R 1w 3 et o ofter v e weter &) wue
T T ST FQ G N 98 o forg wlt v 411

Clock : Time :: Thermometer: ___?_
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oSt g i 92

a) Heat/ &= b) Radiation/ fafertor
c) Temperature/ amm™ d) Energy/ Ssit

Explanation: -

d) Answer is correct because Clock is a
timepiece that measure time. Thermometer is
also an instrument that measures temperature:

TSR -

d) S Tl 2 FAifh T Th T TYH I & S T h
IO 81 THiHe Y Ueh ST & S dT9H hi HIIdT 2

85. Complete the analogy:
A A
C:3:L:?.

a)5 b) 2
)8 d) 12

Explanation: -

In this analogy, the letters are representing
positional value in alphabetical series. "C" is
equivalent to 3, and "L" is equivalent to 12. The
number 3 corresponds to the letter C, and 12
corresponds to the letter L.

TIETRA: -

3O A1gY H, 3T JUHTe 69 1 feereftr A ot wfaffie s
R "C" 3 F T g, 3T "L" 12 o WK 3| TEAT 3 &N
C U A @l B, 31T 12 3180 L & A @l 2

86. Complete the analogy:

G THT

Lion : Den :: Horse : ?

g . wig : HeT: 2

a) Byre / smR b) Barn / @ferem

c) Stable / 3=t d) Burrow / fot

Explanation: -

The correct analogy completion is:

Lion : Den :: Horse : (c) Stable

In this analogy, lions are associated with dens as
their shelter, and horses are typically associated
with stables as their shelter. Therefore, the
correct choice is (c) Stable.

IR

HE |G Ui €

&g : \ig 2w (o) R

30 WY H, I 9 A1 % w9 qiE & 92 A 8, A
A T 3T T2 o &9 8 3Feqeet ¥ 98 2 8 39feg,
Tl faehe () fRem R

87. Complete the pattern:

ﬁa#qgrﬁ':

5D &

(3 @ @)

a) (1)
c)(3)

b) (2)
d) (4)

Explanation: -
The outer figure comes inside, and inner figure

goes outside in the circle and triangle. We will
apply the same logic here.

-

regst o St 21 & et oft ot ek g i,
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88. Arrange the following in top to bottom
order:

Trafafea rsw @ e & i =afaa wt

(A) Hand / &1or (B) Face / =&

(C) Heel / <&t (D) Knee / s

(E) Neck / &=

Choose the correct option from the
following:

Frafofea # & w@ famea T

a) (E), (B), (A), (D), (C)
b) (B), (E), (A), (D), (C)
c) (B), (E), (A), (C), (D)
d) (B), (E), (C), (A), (D)
Explanation: -

Face will come first followed by

(E) Neck then (A) Hand,
(D) Knee, (C) Heel
TIHRT:-

< TR ST 3 TG

(E) e ot (A) BT,
(D) T, (C) T

89. Choose the correct mirror image of the
figure (X):

A AN
(X) @ ® © @
i (0w afr g

a) (a)
c) (c)

b) (b)
d) (d)

Explanation: -

Correct mirror image of the given figure will be
c) option.

T~
& TS SR AT weT g wfafer ¢) oo g

90. Find the missing term in the following
series:

PR st 3 o 9 T AR

HFD, NLJ, TRP, ?

a) YWV b) ZYW
c) ZXV d) ZYyv
Explanation: -

Letter Gap to be observed in the given series
like D - F---H
next leave | and next pattern is.

J--L-=N
next leave O and next pattern is.
P--R--T

next leave U and next pattern will be.

V ---W---Z

and same logic to be applied to get the answer
pattern option c) ZYW.

ST -

TS 2EaT H &R ST 3@ T AMEC S D - F - H
ST ST | T ST 9 2

J—-L-—N

SATAT BIE O 3R ST U 2

P-—R--T

ST U BT IR 7T U =2hm

V ——-W---Z

HI IT G fohed ¢) ZYW STH R o TeTe SH ek An] foham
ST =R

91. Find the missing number of the series:
HEAT ol G ST 1
0,3,?,15,24

a)2 b) 4
c)8 d)13
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Explanation: -

If we observe the pattern, each number is
obtained by adding the next odd number in the
sequence:

A

0+3=3

3+5=8

8+7=15

15+9=24

So, the missing number in the series is
8+7=15

Therefore, the correct answer is (c) 8.

1|5 2|4

+7 +9

TIYIHIT: -

afe A Yed 1 Frieor i, 1 Sos @A ST | STt
forem e SirgsRt e hi ST &

.

0+3=3

3+5=8

8+7=15

15+9=24

L, JEAT H qEEEA 8 + 7 = 15 7
TafeTT, TET 3T (3) 8 B

1p 2

+7 +9

92. Complete the following analogy:

Frfafad wg gt

=

\

1@

4

,.,
[

EIR

—
(3]

[«

2]
A
(A)bP ®)(a
Cc

© (]

o

o) oG]

= D G

b) (2)
d) (4)

a) (1)
c) (3)

Explanation: -

Observe in the figure the interchange of
numbers 1 and 4 in question figure as well as 3
and 5.

Similarly interchange a and d in the answer
figure to obtain figure 2.

IR

ot @ dwar 1 30T 4 % groEny 3 3R 5 % IAEH-YEH i
=c)

THT JeRR STTR{ 2 JTH A o foTT I ATehfd § a 3 d T
Y | sTea]

93. Choose the odd one out:

b) College/ &t
d) University/ faaframem

a) School/ =
¢) Hotel/ great

Explanation: -

The odd one in the given set is (c) Hotel, School,
College, and University are educational
institutions.

The hotel, on the other hand, is not an
educational institution; it is a facility that
provides lodging and typically meals to guests.

TSR -

faw Tg 2 7 SiE ? (c) Brew, ThA, ot iR frafaamer
Srefforeh T 8

Ol S, Bt F1E NeAforer Te TE & J8 e Ve gl
2 ST HEHTHT ohT STETE S 3T A IT WIS e L 2l

94. Complete the following analogy:
Frfafad g s @t
STAR : ATRS :: PLAN: ?

a) ALNP
c) ANPL

b) ANLP
d) LANP
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Explanation: -

Position of alphabet 1234 Changes to 3241
Similarly, PLAN will become ALNP.

TS

JUIATEAT 1234 H TAE 3241
I YR, PLAN, "ALNP" &9 ST

o weer SR,

95. Find the missing number of the given
series?

TS G T FH HEAT I H?
2,5,10,7?,26

a) 24 b) 17
c) 19 d) 23
Explanation: -

The logic behind the terms of the given series is
simple, the first term is 2 and the second term is
5

2+3=5

The third term is 10

5+5=10

The fourth term is?

10+7=17

The fifth term is 26

17+9=26

Hence, we are adding consecutive odd numbers
starting from 3 to each preceding term.

The next number to be added to 26 will be 11
26+11=37

The next two consecutive odd numbers after 11
is 13 and 15. Thus, the next 2 numbers in the
series will be:

37+13=50
50+ 15=65
2 5 10 ? 26
| | | | |
+3 +5 +7 +9
TR -

17T T o &I o HIe T d%h 9L ©, TE 98 2 & 3R
EURERE

243=5

derTe 102

5+5=10

<l ug 82

10+7=17

gferei ug 26 ®

17+9=26

SHICTY, BH S Jaiard! 9a H 3 | (& shleh ST forsH
AT SIS T

26 H & Tt STl e 11 gt

26+11=37

11 % o1 37Tt &1 e forem g 13 o 15 2139
TR, ST § ST 2 EATE gf:

37+13=50

50+15=65

2 5 10 7?7 206

| | | | J
53 45 +7 49

96. Find the missing term in the following
series:

Frfafea sfeen & q 1e 31 A

abc, abcc, abbcc, ? , aabbccc, aabbbccc

a) abbcca b) aabbccc
c) aabcc d) aabbcc
Explanation: -

The pattern in the given series involves the
repetition of letters in a specific order.

Let's analyze the pattern:

abc

abcc (repeat 'c' once)

abbcc (repeat 'b' once)

? (repeat 'a' once)

aabbccc (repeat 'c' twice)

aabbbccc (repeat 'b' twice)

The missing term should be obtained by
repeating 'a' once. Therefore, the correct
completion is:

abbcc (repeat 'a' once)

So, the missing term is: aabbcc (Option d).

www.wedacareer.com




THE WINNING EDGE

—— DEFENCE —

TS -

& T3 e & Yo W U ARt wH H SRl A Tah
T 2

aﬁqﬁzﬁmﬁw FL:

abc

abcc ('c' 3l T IR SEA)

abbcc ('b' 3T Teh S ETET)

? ('c' %I T X STl

aabbceccce ('c' aaﬂaﬁlﬁ)

aabbbcccc (b’ €T T 3TEA)

TH UE I ‘2’ HI TH GR AU IH AT ST =Ry
aabbec ('c' T Tsh o ST&AT)

r, @H‘ZI’C{%: aabbce (ﬁﬂw_ﬂ d)l

97. Select the correct figure which will
complete the given grid-

3 TR AT 1w w1 R e Brs g

el
pd -
S|P <>

o
A) E
a) (1)
c)(3)

Explanation: -

Correct figure will be b, as we observe in the
figure, in the grid the shading in first and
second figure is exactly opposite in first row and
last row so we will apply that logic here.

TR -

Tt fert & b) S 6 e fire & forr 3 w9 8 Fww €, wed
3R A Aok T BRI Tgel! dfth S gadl ufh o foespe
forrtiar 2, safere & 3 aeh o 7= Ay

98. Complete the analogy:

Cricket : Bat :: Hockey : ?

G TAH:

fordhe ; eaT :: B : 2

a) field /fem b) stick/ =€t
c) Player/Raeet d) Ball/ g
Explanation: -

In cricket, the primary equipment used by
players to hit the ball is the bat. Similarly, in
hockey, the primary equipment used by players
to hit or control the ball is the stick. Therefore,
the analogy is completed by associating hockey
with the stick, making the correct choice (b)
Stick.

TEAT:-

Torehe T Raemfea sy e o fee e & forg SwammT forar S
TCAT TR ST et 2| E TR, Bt 1, Tig i &
7 FERE v % fow Rearfeat g swm fomn s
1T T fiveh SUSHUT B B 37 et Rl fieeh 3 W1y g
Tt forened (b) feesh srTeRt |y qr fobarm ST 21

99. Arrange the following in the ascending
order.

Frafafaa =t ST s o safterd )

(A) Year /o

(B) Month / w&iar
(C) Century/ @dt
(D) Week / @ut®
(E) Day/ f&x

Choose the correct option from those given
below:

a) (D), (E), (B), (A), (C)
b) (E), (B), (D), (A), (C)
c) (E), (D), (B), (A), (C)
d) (E), (D), (A), (C), (B)
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Explanation: -

To arrange the given items in ascending order:
(E) Day

(D) Week

(B) Month

(A) Year

(C) Century

So, the correct option is (c): (E), (D), (B), (A), (C)

TSR -

&1 T AT hT TR 3 | SFATEd i o T
(E) fet

(D) wHTE

(B) HEHT

(A

(C) wet

a1, wel faaea 2 (¢): (E), (D), (B), (A), (C)

100. Arrange the following words as they
occur in the dictionary:

Frefafea wsat =t SHft TR =afted #t S8 F wsemw i
A E:

(A) LETTER/ 7
(C) LEMON / g
(E) LIZARD/ fosrcht

(B) LITTER / %=1
(D) LITTLE/ st

Choose the from the

following:

correct option

a) (C), (A), (D), (E), (B)
b) (C), (D), (A), (B), (E)
c) (C), (A), (B), (D), (E)
d) (A), (C), (B), (D), (E)

Explanation: -

To arrange the given words in dictionary order:
(C) LEMON

(A) LETTER

(B) LITTER

(D) LITTLE

(E) LIZARD

So, the correct option is: ----

(3) (C), (A), (B), (D), (E)

TERIT:-

f3U T FTeqT 2T YTaehTeT hH H STafterd i
(C)

(A) T

(B) %31

(D) et

(E) feusheft

a1, et fashea &: - (C), (A), (B), (D), (E)

SECTION — D: GENERAL KNOWLEDGE

101. Who is the author of the famous work,
‘The Man - eater of Malgudi’?

g BT ST TR 3 AR T F AEH I &

a) Rabindranath Tagore/ wiwzamer &t
b) Ruskin bond / e sig

c) R.K. Narayan /T3, TR

d) G.V. Desani / st gt

Explanation: -

The correct answer is (c) R.K. Narayan. R.K.
Narayan is the author of the famous work "The
Man-Eater of Malgudi."

Some of his notable works include "Swami and
Friends," "The Bachelor of Arts," "The Guide,"
and "The Man-Eater of Malgudi,"

R.K. Narayan received numerous accolades and
awards for his literary contributions, including
the Sahitya Akademi Award and the Padma
Bhushan, which is one of India's highest civilian
honors.

T -
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HE I (c) T FEURATH! ST TR0 St 21 T
FOTEATHT ST A0 T T H-32T 3T ATl
g o TR 23 T T HE § i 1S e,
g FER AT AEH," "3 MEE," R "7 A5 3T AT
It &

A FUREETHT 3R AT TTHT b 3o dlfefcash
FTET 3 foTg % wraT 7R qrenr firct, foms wnfee
SHHTEHT RT3 T2 0T MM &, S IR oF Tl 9
TRTIGR TE | 8 T B

102. A Khunti is
g #

a) An implement used to dig the soil/ gt @ea
o ot guTet o ST aTeT Suehtor

b) An iron pole to tie cattle / HafImT = sie & fow
TR T GT

c) A earthen pot to cook food / @HT UM & forw
firgt 1 o

d) A musical instrument / T gia are==
Explanation: -

The correct answer is (b) An iron pole to tie
cattle. A Khunti is commonly used as an iron
pole to tie cattle. 'Khunti' is a common and
traditional hand tool used in agriculture. It is
called a 'hoe' in English.

TIY IR -

TE I 2 (b) FARTT T e o foIg v SR w7 @ G
T IYANT AR T HIARET b7 e o foTg e % @9 &
w7 fopa Smar 31 G H F gwwre R S arer
AT ST qRITER 81 T SIS ) 39 3OSt # ' el
ST Rl

103. You put a glass of water in the sun.
After 2 days, the glass is empty. Where did
the water go?

o e e et gqu § vam 2 & e few adt @
TR I SR AT

a) It evaporated/ = afSqa & maw
b) It condensed/ @ Gufaa & waT

c) It froze/ o8 s= =
d) It turned into nitrogen/ Ig e | ge AT

Explanation: -

The correct answer is (a). When you put a glass
of water in the sun, the heat energy from the
sun causes the water molecules to gain enough
energy to transition from liquid to vapor, a
process known as evaporation.

TEH: -

TE IW E (a) | S A9 g9 F U e ot e 8, 9 g
¥ frerer arelt ST it ot o SAUST e 8 Aty |
e o TIC TITH Sl T8 ST T 10T ST &, 39 JishaT
T SITS1eRLT 3 &9 H ST ST 2

104. Best friend of soil is:

P ¥ ged IR A &

a) Birds/ ueft
c) Insects/ #re

b) Earthworms/ #3g
d) Snakes/ @i

Explanation: -

The best friend of soil among the options
provided is (b) Earthworms. Earth worms are
considered the best friend of soil due to their
crucial role in soil health and fertility.
Earthworms promote microbial activity in the
soil

T -

T T forapedt & & firgt o weret 3= 21 € (b) e gt
TR S IATAT H 37ohT HEaqul HeRT o 10T Ha3A! i
firgt 1 Te¥ ST SR AT ST 2| Sy gt o gewstt
wfafafi i seET e §

105. Which solution is given when a person
has vomiting and loose motions?

et ferelt =4 fth i Iedt 3R % &1 df 3§ I @1 = fean
Gk

a) Milk Shake/ fues 31
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b) Lemon Water/ s it
c) Fruit juice/ &t w17
d) Salt and Sugar/ Tme 3R =it

Explanation: -

When a person is experiencing vomiting and
loose motions, a solution that is often
recommended is (d) Salt and Sugar.

This solution is commonly known as Oral
Rehydration Solution (ORS), and it typically
consists of water, salt, and sugar in specific
proportions. The combination of salt and sugar
helps to replenish electrolytes and fluids lost
due to vomiting and diarrhea.

TIYIHIT: -

o fopeft safeh oAt It 3T <& &1 @ @, a1 AT T ol
I T & ST § | 39 ST ol A T A gy
HICIR (STTSTRCH) o & H ST ST 8, 3R e AR 0
fafire srgaTa & o, e 7 =fieft 2t 31 e Si <
TS 3T TR T o FHRY W T FARIATIEH ST T
qeTelt sht R & i 8 Hee T 2

106. Which one among the following is NOT
a natural way of food preservation?

Trferfiae o & w0 wT e GTEoT ST SThfah alieh T 87

a) Drying / ga@mt
b) By adding preservatives / ufwee e

c) Salting and sweetening/ THhIT sAMT 3R Hfar
Eaciy

d) Pickling / =R sA™T
Explanation: -

Adding preservatives is not a natural method; it
involves the use of artificial substances to
extend the shelf life of food. The other options,
drying, salting, sweetening, and pickling are
considered natural ways of food preservation.

TR -

uftersh feTT Uk Wiehfaeh aiiet a1 &; 30d e & Sfia
S1afYr 1 Fg % foTe i garef w1 I Wit /1 =
TR, T, T ST, HiaT AT 3R STER ST @
HTETUT o TTh{ceh qdioh AT ST &

107. Which leaves can be kept in box to
protect the seeds from the insects?

i Y A § T9W F T BN o ol s § @l s
Tt 87

a) Neem/ =
c) Banana /

b) Banyan/ a8
d) Mango /

Explanation: -

The correct answer is (a) Neem. Neem leaves
have insect-repelling properties and are often
used to protect seeds from pests and insects.

TSR -

T3 (a) A1 21 Fir b et & fre-wfaired qor Er & i
STFL SISt T e S e & = & forw sgamT fomm
ST R

108. Which of the following works can NOT
be done with water that has been used
once?

fFrefafas & & 9 a1 w0 T IR 3} R e aEh S
1 foraT ST HeRaT 27

a) Mopping the floor/ st digT

b) Washing hands and face/ g i == &1
c) Watering plants/ dei st arft &

d) Using in the toilet / si=rmer™ & S&mTe T

Explanation: -

The correct answer is (b) Washing hands and
face. The idea is that washing hands and face
typically requires clean water to maintain
personal hygiene.

TTHRIT: -
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TE I 7 (b) T N =W o fomm I7 § fR arr oik
e I % ToTT SAHIR T AT T=sdT SH1C W@ & fofg
T Y ST STTErgeRdT Bl 2

109. Which of the following devices is used
to measure body temperature?

Trafafaa o & fFe Su=or 1 ST YRR % Qo &6
a1 % fore femam ST 22

a) Lactometer/ wanfiex
b) Barometer/ sriiex

c) Thermometer/ gmiHiex
d) Speedometer/ wfignfiex

Explanation: -

Lactometer: A lactometer is a device used to
measure the density of milk. It helps in
determining the quality of milk by assessing its
fat content. It is not used for measuring body
temperature.

Barometer: A barometer is an instrument used
to measure atmospheric pressure. It is
commonly employed in weather forecasting.
Barometers are not designed to measure body
temperature.

Thermometer: The correct answer is (c)
Thermometer. A thermometer is a device used
to measure temperature. There are various
types of thermometers, but for measuring body
temperature, clinical or medical thermometers
are commonly used. They can be oral, ear,
forehead, or infrared thermometers, providing
an accurate reading of body temperature.
Speedometer: A speedometer is an instrument
found in vehicles that measures and displays
the instantaneous speed of the vehicle. It is not
used for measuring body temperature.

T -

AT AFIHIet T ST & ForenT 3T g9 3 =
1 T o ToTe foram STt 21 e g <6t s |l 1 SATeher
o T T i O § HaE T 2l ST ST
IRIT 3 ATIHH i A9 o foTq 7 fomam S 2

e SUHiet ATgHES T T ohi 71O o foTg gedwTer
oA ST ST Teh USRI 8| ST SEAUTA SATHAR T HiEH
St sifersaraoft & foram STTaT 21 SRiHTeX IR 3 qomT sl a1
% foru festrea 7t fp o &)

oufrfiet: Tt I (¢) FHTHIE B SATHICT ATIHTH A9 o fog
FEAUT TSR ST STt Ukt 81 emiriet 3 fafir yehr €
AT IR o ATIH sl A9 3 foTw, Aerten = faferean
ofefie STTHAR 9T SR f3hu STTd &1 & Hiftger, %, wrr an
ST AHTHIET B Hehd 8, S IR o qT99 1 Teieh AfeT
T L 2l

wfSrfier: TiSHiet ared § I ST STeT e STeRUuT & ST
TR ST ATcehTicTeh T 3T HIIAT & 37T TSf3Ta HidT 21 S8Rt

110. How many spokes are there in the
wheel placed in the centre of the Indian flag?

IR ST o ohs o T T e fopart fiforat §

a) Twenty-six / Ssstq

b) Twenty-four/ =isfim
c) Twenty-one/ s&hia

d) Twenty-eight / 21

Explanation: -

The wheel placed in the center of the Indian
flag is known as the Ashoka Chakra. It is a
depiction of the wheel of law or dharma, and it
has 24 spokes. The Ashoka Chakra was adopted
as the emblem of the modern-day Republic of
India on January 26, 1950, when India became a
republic.

Each spoke of the Ashoka Chakra represents a
virtue and is intended to symbolize the progress
and dynamic motion of life. The 24 spokes are
evenly spaced and radiate from the center of
the wheel, creating a visually striking and
meaningful design.

-

TR T o g H Wl 7T qfed T SR =I5k o &9 H ST
ST 31 I8 FET A1 G % ufed o R, o sad 24
dfiferat g1 1T =15k i 26 SHA, 1950 I STYfeF AR
TS o Yefloh o & § AIFET 7T T, ST T Ueh 70T
ST ST 3T =15h %! Scdsh dleit Tah T[0T 3T ST shet
2 37 EeRt IR Sfta i s 7R farefer i T el 2
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24 diferat T & & Pt g5 8 3 ufed o s @ Feperd €,
8w Srrenden 3T wreleh fesie s R

111. Who wrote ‘Ramayana’?
‘o foRee foram?

a) Valmiki / aretiifsr

b) Vedavyas/ ag=ama
c) Kalidas/ sferera

d) Gyaneshwar/ st

Explanation: -

The ancient Indian epic, the "Ramayana," is
attributed to the sage Valmiki. Valmiki is
traditionally regarded as the author of this epic,
which narrates the story of Lord Rama, his wife
Sita, and his loyal companion Hanuman, among
other characters. The "Ramayana" is one of the
two major Sanskrit epics of ancient India, with
the other being the "Mahabharata.

AT -

T TR AeTehTeT, "THTR0T" T 93 SR areHifeh ol feam
ST 2| STeHI{eh sl TR &9 & 39 HeTehIeT T oi@sh HHT
AT &, ST e T, ShT Tedt Hier 37T 3ok T%1er Hreft
T o AT AT TP sh el STaTell ] "THROr" S
T o 2T S EEhd HeTshiel | 4 U 8, GO "HeTRa” 2

112. Which one of the following is a non-
renewable resource?

TFrafafaa ¥ @ =i a1 R daea R?

a) Petrol /agret
c) Bio — gas /amn-ig

b) Wind / a3
d) Sola/ @k

Explanation: -

The non-renewable resource among the options
provided is (a) Petrol.

Petrol: Petrol, also known as gasoline, is derived
from crude oil, which is a fossil fuel. Fossil fuels
are considered non-renewable resources

because their formation takes millions of years,
and their extraction depletes finite reserves.
Wind: Wind is considered a renewable resource
because it is generated by the sun's heat, and as
long as the sun exists, wind energy can be
harnessed.

Bio-gas: Bio-gas is produced from organic
materials such as agricultural and animal waste.
While organic materials are renewable, the
process of producing biogas can be considered
a renewable energy source.

Solar: Solar energy is considered a renewable
resource because it is derived from the sun, and
as long as the sun continues to radiate energy,
solar power can be harnessed.

TR

forererd o & AelieRtuiia GETeT (2) W2 R)

AareT; Uered, 5 Tttt o & § off ST ST €, el del |
ITH BT ©, ST Ueh SeTed 6 81 Samed 6 o -
FefTeRTuiiz HETE T ST & SR $e o § o |et
ST & R g1 Foreemeior €fifird HER o GHTE a2
YE: TE ! T ohLU(T HTe W ST i a8 9 Al
Tt & IeqT B 8, ST ST 7k G ke § 8, Te et
YT feraT ST et 2

R ST ST S, S i Sy safie, &
Ieq=T BT 31 Sifereh et TeteRtofia gt 7, i s
IeqTeH Sl TTshaT shT Teh TeleRTofT STl S HHT ST HehelT 2
WA HI STt bl TSRO ETE AT ST € Hifeh I8
T & TTH BNl 3, ST ST e G et fofehRit T W@, €
5l T ST TSR ST Tkl 2

113. In Jammu & Kashmir, what does
‘Yakhni’ refer to?

S 3R FT H, Tl 1 T wae §

a) A piece of cloth worm on head by men/ gesi
T T o 9T ST AT g T ZheT

b) A non-vegetarian dish/ T aiEmERT SHisH
c) A cultural festival/ te diepfie =
d) A form of local dance/ =T 2 %1 Tk &9

Explanation:-
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The correct answer is (b) A non-vegetarian dish.
Yakhni is a traditional Kashmiri dish, particularly
known for its aromatic broth. It is often made
with yogurt and various spices, and it is used to
prepare both vegetarian and non-vegetarian
dishes. However, in the context of Jammu &
Kashmir, 'Yakhni' commonly refers to a non-
vegetarian dish.

TSR -

TE I (b) Tk HETERT S | FEHT Teh Iiafes Syl
S &, S TR ®7 & 3107 e wier 3 fore ST St 21
T IFE 28T S T TETEl % ATy SR S 8, 39
FHHT TN IHRRT 3N AETERT SHT a8 & IS da)
T o ToTg foram ST 21 gTeifer, S 31t it o e i,
e TR X Ueh THTERT S2sH T Tefiid LT 2l

114. ‘Tadpole’ is in the larval age of which
animal?

e fohe R i arat ST H ]2

a) Dog /= b) Tiger/ s
c) Frog/ ties d) Goat/ =it
Explanation: -

The correct answer is (c) Frog. A tadpole is the
larval stage of a frog. During this stage, the
tadpole has a tail and lives in water. As it
undergoes metamorphosis, it transforms into
an adult frog.

TR -

TE W (c) ek Bl SSUlel Hash i aral fewer 31 39
HAEAT F M, TSUIA I T I BNt & SR g Tt 7 et
2 S-S I8 FRTCE ¥ TTSAT €, I8 TH 9 Hew o
LSS IR

115. Birds like kites, eagles and vultures can
see things from a distance of:

e, <fer e g 3wt it 81 et 1 & e

a) Two meters/ ar#iX
b) Four meters / IR

c) Eight meters / 1@ diet
d) Twenty meters/ sa X

Explanation:-

The correct answer is (c) Some birds like kites,
eagles, vultures can see four times as far as we
can. These birds can see things from a distance
of eight metres what we can see from a
distance of two metres.

TR -

HET W & (o) e, =i, firg S o waft gwdt = T
o < Hhd &l 3 vell A3 Hiet i gl ¥ <Ml o@ R & S
& 31 et T i & 3w 2

116. What is the name of the eldest brother
among Pandavas?

Uil T T oS TS T A AT 87

a) Bheem /sfiw b) Arjun/3w=t
c) Yudishther/gfafst  d) Karna/=f
Explanation:-

The correct answer is (c) Yudishther.
Yudhisthira, is the eldest of the Pandava
brothers in the Indian epic, the Mahabharata.

T
HET IW (c) FRMET 21 Faf, Wi werwe Aervra |

gied WIEdT § Hed oS & | HETYRA shi AT HElY d =ure 3
=

117. Bihu dance belongs to which state?

forg 7o e T & sl ¥2

a) Assam / @9

c) Bihar / fo=er

b) Gujarat/ T=
d) Punjab/ W&

Explanation: -

The correct answer is (a) Assam. Bihu dance is a
traditional folk dance from the state of Assam in
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northeastern India. It is associated with the
Bihu festival, which is one of the major cultural
celebrations in Assam.

T -

HE I (a) 370 2| Torg Toa Gt I o ST6H TS 1 Th
UL Tk o7 Bl 7% forg wer & g1 371 &, S 14w |
TG HiEh(deh Icqal ¥ TH 8l TRAT-TSH, S19-10,

118. Wahida Prism, Lieutenant commander
in the Indian Navy is what type of a
professional?

YR o ¥ wiftede Fwist adiar ew fora g i
YR &2

a) Doctor / €@z

b) Software Engineer /ai#ea=r $Siifaw
c) Chef/ 3%

d) Teacher/fers

Explanation: -

Wabhida Prism Khan (born 1972) is an Indian
naval surgeon. She was the first woman to
command the annual parade at the Armed
Forces Medical College, Pune in 2006. She was
the first woman from Jammu and Kashmir to
join the Indian Navy.

TR -

FeteT 50 @™ (S 1972) T AR 9T TS 8| 98
2006 ¥ 90T o IR A HISHT HicisT H AT TS hl FHH
HTCT ATt Teelt Afea off| a8 st HeET § i e
ATt ST SR T ot et wiee off

119. How many gold medals did Indian win
in Asian Games held in 2023?

2023 ¥ Ao TREE @t § qReE + fha @of vew
Sfa?

a) 28
c)42

b) 52
d) 14

Explanation: -

India set a new benchmark for themselves at
the Asian Games 2023 in Hangzhou, the
People's Republic of China. India finished their
Asian Games 2023 campaign with a record haul
of 107 medals - 28 gold, 38 silver and 41 bronze.

TEH: -

WRA 7 diqew fafeqr e =mr % st § qReg @t
2023 T AU TIT Ueh 2T SerTeh TATiYq f3ham 9 3 ufymmg
AT 2023 AR HT 107 g - 28 T0T, 38 Tid 3 41
e o fente & @y guTy foham|

120. Which super sense is activated by
langur while warning others of danger?

it o ek o e 38 e A g S
T A

a) Sight /3f¥ b) Sound/ =fa
c) Skin /= d) Smell/ g
Explanation: -

The correct answer is (b) Sound. Langurs, which
are a type of monkey found in South Asia, use
sound as a means of communication,
particularly to warn others of potential danger.
They are known for their distinctive alarm calls
that alert the group to the presence of
predators.

TSR -

HE I (b) A 71 TR, ST S feor TfRm & arg S AT el
T e ISTId &, o % |19 o &9 H & 1 Y91 id &,
forsiy &0 & gl b wifer et St <t 3 % fog ¥
ot faftre s & & fog 9w S S T a6
fyrenTicat st suftefa 3 fore o= e 8

121. Which one out of the following animals
has a very strong sense of smell?

Tt SRt # & forereht e sht STTaT ga Hoteq &7

a) Rabbit / @wmw b) Ant/ =fidt
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c) Cat/fereett d) Monkey /sist

Explanation: -

The correct answer is (b) Ant. Ants are known
for their exceptional sense of smell, which they
use for communication, navigation, and locating
food sources.

TS -

e I (b) =T B et vier B Syuet SrETETOr HaE %
fore STt STt 2, e swam 3 wem, Sfenee i @
AT =T IaT AT o foTT st 2

122. We mainly get energy to do work from:

T H H F T 7T T & I et @

a) Proteins / Wid=

b) Vitamins / faerfim

c) Fats and carbohydrates / =@ 3R sEifeEge
d) Minerals / =@ 3t shreiiergge

Explanation: -

The correct answer is (c) Fats and
carbohydrates. Fats and carbohydrates are
macronutrients that provide energy to the
body. When metabolized, they release energy
that can be utilized for various physiological
processes and physical activities.

TSI

e IW (c) T IR FTEIESE 8l TOT IR FARRIE Iea
UIeh dcdl & ST ST ol Ssil YeH shid 1 STel 3UT9=rd &I 2,
A1 S Sl Tk Brdl & Sraent ST o=t i sttt
I Srdifen ittt o forg fomam St wekar 21

123. Children who live in the plains would
find it difficult to walk on the mountains
because:

Bt geTeR! & T AT SR Sl IETS IR T YRaRe T
wif:

a) They are lazy./ & 3rewt 8

b) The paths are rocky and uneven./ T Teriet
3 Ie5-TTS El

c) The paths are very smooth./ T aga foae 8
d) There are no transports available

mountains./ UETE! T IS GRaET Sqeiey e 2l
Explanation:-

The correct answer is (b) The paths are rocky
and uneven. Mountainous terrains often have
rocky and uneven paths, making walking more
challenging compared to the smoother paths
found in the plains.

T R:-

el S (b) TR Uil ST SFu & Ueret semnt o
T qeiel 3R STHYH T a8, o8 fgrt soment §
T ST STt =7 it 2l et H =T 37fersh vt &
ST 2l

124. Where is Char Minar situated?

TR HR et Rea 87

a) Jaisalmer / @@ b) Puri /g
c) Aurangabad/samete d) Hyderabad/geteme

Explanation:-

The correct answer is (d) Hyderabad.

The Charminar is a monument and mosque in
Hyderabad, India. The structure was built in
1591 AD. It was built in 1591 by Sultan
Muhammad Quli Qutb Shah. Charminar is
famous for its intricate architecture, which
makes it one of the most recognized structures
of India.

TSR -

E IW (d) 2T 2

IRHAR W % 2SS H Teh TR 3N 7iESTe 31 I8 HT=T
1591 §. % =18 71 offl 39 1591 ¥ Yed™ qewie Tl Has
TTE 3 ST oT| SARHAR STt STt ameqehett o fore wférg
2, ST 38 WA oh! Gerel HT=rdT 976 STl | § Ueh s-Td] 2l

www.wedacareer.com




THE WINNING EDGE

—— DEFENCE —

125. Earth takes how many days to revolve
around the Sun?

et o g i aferT w0 i o e e @

a) 365 days/ 365 fe

b) 365 % days/ 365 Vi e

c) 365 % days / 365 &

d) 365 1/3 days / 365 1/3f&

Explanation:-

Earth revolves around Sun in 365 1/4 days. This

period is known as one Earth year. We usually
round the days in a calendar year to 365. To
make up for the missing partial day, we add
one day to our calendar approximately every
four years.

T

qeaft g i afEnT 365 1/4 fo § w21 39 sty w1 T
geaft o & F9 H SHT ST 81 T SHAR T T hered ¥ §
T =T 365 e 7Tt hid 8| TrIel §U A1 fot 2hl wiers =6
foTe, 2 3199 FhoTet H T & 91 AT H Ush fod Sited 2
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